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1. AFHEFP -
(1) 87 &% (n)<15p
(725 &)t = (%8 % £8% £)tx(0.75 + 0.25 x t/n)
(2) 878 (n) =15 pF
ad t<15 > (f2H &)= (REH EE% £)tx(0.75 + 0.25 x t/15)
b.d t =15 (j&¥ &)t = (%5 § EE K &)t
2. MR HE
(o &)t=(mE e 8ad &)t
t I RHECHER n o EY

(729 £ N=(F 8 § ©E & &)t
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1. s34 mp
(1) $8%#% (n)<10p
(fa9 &)t =(%5 % EF 4% £)tx(0.85 + 0.15 x t/n)

(2) 8% 2% (n) 210 p*
a.f t<10 (24 £)t= (¥ § @ # 4 £)tx (0.85 + 0.15 x ¥/10)
b t210 (29 &)t=(FHEH EFm &)t

2. WP WAL
(%5 &)t= (8 § B2 % &)t
t P REGEER D &Y

(129 &)t= (% ¥ § EEF £)tx (1-0.01x (n — 1))
t P RHESEER on o EY

(2 &)=(FEH EEgF 2)tx(A-K) ~Kt: % tiREERRE 97 * F
K1=5% > K2=4% > K3=3% > K4=2% - K5=1% > K6=0%

=

RH B ER t<=3pF

(A9 &t=(FEH EEF £)x (LK) Kt: S timEEREOE * F
K1=2.5% > K2=1.5% > K3=1%

2. RHEESWHEER t>3FF

(fRr &)t=(EH E®g £)t

1. BHSEER t=1pF

(29 &)t=(FE§ EEF £)tx096
2. BRECHER 1<t <4pF

(24 &)t= (%8 § €& &)t x 0.9871
3. WHEHER 4<=t<n-1lp

(25 &)t=(%E % &% % £)t x0.996
4. %HGiEER nl<=t<npF
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(135 &)t = (w5 § & # % £)t x 0.9997
5. RESHER t=npF

(2 &)t= (8§ EF & £)t

t CRHESEER n £

1. wHEE@®ER t<nlpt

(125 &)t = (RE § @8 % £)t x (1-0.01x(n-1))
2. RHEWHER t>=n-1pF

(f2 £)t= (%8 § £F & £)t

t P RESEER nEY

1. mHSEER t<=lp

(34 &)t = (¥ § EE & £)tx0.91
2. RECHER I<t<=2p

Ay &a)t=(FE % 5E#iF £)tx0.92
3. mHELEER 2<t<=3pF

(2% &)t = (¥ @ E#F % £)t x0.93
4, BH TiEER 3<t<=HpF

(fFxan=(FE % e®y £)x0.94
5, %RE CipE R B<t<=7 &

(2 &)t=(FEH E%H £)tx0.95
6. FH CiHER T<t<=n-1pF

(2 &)t=(FEH EeEF £)tx0.96
7. RHESHEER t=npF

(X at=(FEH afg 4)t

t cREGEER  n AW

1. RHEGEER t<=3pF

(A &)t=(rH4 i3 EEE £)Xx0.95
2. WH S ER 3<t<npF

(faxy &)t =(E %4 £)tx0.96
3. RHEEEER t=np
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(Y at=(FE QL Efg )t
t CRHESEER n &Y

1. BFPHEp

(fexy & =(EH E® 4% £)tx0.75
2. BRI

(2 &t=(rE§ el &)t

t o RHCEER

1. ZEoiEER t=1pF

(Ao &n=(%4 % Efn £)Xx075
2. mHCHER t=2pF

(25 &)t=(im¥ % @8 % £)tx0.90
3. mHCiHEER t=3p

(B &)t =(iR¥ % @8 % £)tx0.95
4, FBHSiHAER 4<=t<=HpF

(5 &)t=(im¥ % E¥ % £)tx0.99
5. RHSHEER t>=6pF

(R &)t=(FrE§ e8F &)t

t D RESEER

1. AppRp

()% 7 = =7 p*
a WHGEAR I<St<6p - (RO &)t=(FE K EEHF £)tx0.75
b. mH GHEER 6<=t<7 P (RO &)t=(FEH EEHF £)tx095

(2)% #p & =10 p&
a. RHSEER I<St<TP (RO&)N=(FEH EEHF 2)tx0.75
b. #ESEER T<=t<8pF > (RO&N=(FE K EEH £)tx0.93
C. WHGHER 8<=t<9p  (JRYa)N=(FE Y EHEH £2)tx097
d FESEER O<=t<10pF > (RO &N=(FEH EHH £)tx098

(3)% w3 = H=20 p*
a. WH AR I<st<7 @ (RO&)N=(FEH EEHK £)tx0.75
b. wH GEER 7<=t<9pF (29 &)t=(FF§ EEHF £)tx0.87
C. WHEGWHER 9<=t<llp > (RY&)N=(FEH EFEH £)tx0.92
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d #HEGEER LI<=t<I3pF - (29 &)t =(FE§ E8F @ £)tx0.95
e. FH CiEER 13<=t<I5 @ (29 &)t=(FE § EF % £)tx0.98
f. RESHEER 15<=t<20pF > (RO &N =(FE K EHH &)t
2. By s
(Bl e =(FE§ E8&g &)t
t I RHCEER

1. ZEoiER t=1pF

(B &)t =(iR¥ % @8 % £)tx0.75
2. WRHESHER t=2pF

(74 &)t = (%5 % @ 2% % &)t x0.90
3. WH cigER t=3pF

(Ao &n=(%% % E8n £)tx095
4, RH CiEER 4<=t<=HpF

(25 &)t =(%H¥ i%' B H £)Xx0.99
5. RELEER t=6pF

(125 &)t= (5 ¥ &8 % £)tx0.9975
6. RHECHEER t>=7pF

(R &=(rE§ e8F &)t

t D RHE SEER

1. BHESEER t=1p

(fFxant=(FE % e®y £)tx0.75
2. z-‘i'—,%frsﬁ-&f{ t =2 pF

(25 &)t =(rH #EfEE £)tx0.90
3. z-‘i'—,%frsﬁ-&f{ t =3 pF

(25 &)t =(rH #EfEE £)tx0.99
4., ®wHGiFER 4<=t<=5pF

(¥ &)t=(FE % &%y £)tx0.995
5. z-‘i'—,%frsﬁ-&f{ t =6 pF

(¥ &)t=(FE % 5®iF £)tx0.9975
6. WH SWEER t>=T7

(725 &)t = (%5 i £ 4 &)t

t D RHE SRR
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(fegan=(rdEp Eadg £)tx(1-Kt) " Kt: $tHFEERfE 95 * F
K1=5% » K2=4% » K3=3% * K4=2% > K5=1% » K6=1%

1. RESEER t<=6p
(f# /]$)t—(13—§fl% B H &) x (1-Kt) » Kt : lﬂ—ﬁ«&}’}‘;ﬁ'*]#”*q:
K1=2.5% > K2=1.5% > K3=1% > K4=1% > K5=1% > K6=1%

2. RHEHER t>6pF
(%9 &)t = (B § £2 4% &)

1. FECWHEER I<=t<=H P

(fexg&)t=(%E % E®H £)tx0.75
2. RHSHAER 6<=t<=9pF

(34 &)t= (W8 § @& &)t x 0.99
3. RHETHER t>=10p

(29 &)t = (8 § EEF &)t

t P RHESEER

1. BHESEER t=1p

(725 &£)t= (%5 % @8 % £)tx0.75
2. BRHEELHER t=2pF

(125 &£)t= (%% % E% % £)tx0.90
3. ¥ V}@-&fi t =3 pF

(fFxant=(FE % e®y £)x0.95
4, RHSHER t=4pF

(135 &£)t= (%% % E% % £)tx0.98
5, ¥ &R 5<=1<=6pF

(135 £)t= (%5 % E% % £)t x0.99
6. FH TWHER T<=t<=8pF

(faxy &)= (5 % @ %4 £)tx0.995
7. WHSHEER t>=0p

(f2xy&)t= (8§ EF & £)t
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t P mEEEER

1. RECWHEER t<=1pF

(fexy&=(FEH E®4 £)tx091
2. RHEWHER I<t<=2p

(Y &)t=(FE % 5®iF £)tx0.92
3. RHKHAER 2<t<=3pF

(29 &)t=(FEH 5E% £)tx0.93
4, wHLiHER 3<t<=HbpF

(29 &)t= (8 % ©% % £)tx0.94
5, WH i E R B<t<=T P

(Ao &n=(%% % E8n £)tx095
6. HTiHER T<t<=9pF

(29 &)t=(FEH 5F% £)tx0.96
7. REEEER O<t<=10pF

(fexg&)t=(%5 % E®H £)tx0.97
8. FH giFER 10<t<=11pF

(29 &)t=(FE 1 5%4g £)tx0.98
9. WHSHER t=npF

(2% £)t= (WE & G2 % &)

t cRESEFEER n A

1. RHEHESHEER I<st<=4 pF

Ay a)t=(FE ¥ Efig £)tx(0.94+0.01 xt)
2. RHESWHEER b<=t<=12 pF

(25 &)t =(rH l% By £)tx(0.99)
3. WHGiEER t=13p

(X at=(FEH afg 4)t

t RHESEER on EY

1. BH CEER t <8 pF
(72 &)t= (%5 § ® % £)tx (0.91+0.01 x 1)
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2. WH SEER 8<=t<npF

(2 &)t=(FE % E®g £)tx(0.99)
3. RHEKHER t=np

(fr g =(FE§ E8g &)t

t i RECEER on £

1. FESEER (=1p

(29 &)t=(FEH BEg £)x0.75
2. RHEWHAER 2<=t<=3 pF

(724 &)t= (¥ i @ % £)tx 0.99
3. REETWHER t>=4 P

(R &) =(FrE§ E8F &)t

t D FHE SRR

1. Mg RPN

(2 &)t =(F5§ e84 £)tx(0.92+0.08 x t/n)
2. By ¥Es

(g a)t=(wdp ey st

t P RHESEER n o EY

1. RHESHEER 1<=t <=3 p
(fFxan=(FE %W e®y £)tx0.75
2. RHEWHER 4<=t<=6pF
(fFx&a)t=(FE % e®y £)x0.99
3. REGFER t>=7T P
(735 &)= (5 % @85 &)t
t RHECEER

1. RESEER t=1p
(72 &)t= (5 § ©E% £)tx0.75
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2.

FHSHEER (=2

(A &)t=(rH4 l%_ EEE £)Xx0.90
FH GiEE R 3<=t <=6

(124 £)t= (%3 § @ 3 & &)t 0.99
H SiEE R >=T7 pF
(fBra)=(FE i E8g &)t

t D RH SRR

wHSEER t=1pF

(34 &)= (WH § £F& &)t x0.75
wHSEER t=2PF

(25 &)t =(%H i%' E&E £)Xx0.90
wHSEER t=3pF

(29 &)t=(FEH 5E% £)tx0.95
wH G E R A<=t <=6 pF

(f2 &)t= (8 % %% £)tx0.99
wHSEER t>=7pF

(2 &)t = (RE § £ % &)t

t D RHE SEER

wHEwER t<=1PF

(f2 &)t=(H % £E% £)tx0.75
H g ER 1<t <=2pF

(25 &£)t= (%5 % @84 £)tx0.90
FH G ER 2<t<=3

(29 &)t= (5 % @ % £)t x 0.946
wHciwER 3<t<=4pF

(25 &n=(%H u%‘ E &% £)tx0.958
BHSiEER 4<t<=5pF

(725 &)t =(im5 % E¥ % £)tx0.970
FH S ER 5<t<=6pF

(29 &)=(FE 1§ &84 £)tx0.982
wHSiEER 6<t<=7 P
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B?];*Ix 3 R 3P FRIBRM 2 &

(fa9 &)t = (%5 % EE % £)tx0.992
8. mHLHAER T<t<=nps
(faa &)t=(F%5 % E8H &)t

t :RHSEER D &Y

1. RHESEER I<=t<=3pF

(34 &)t=(®H § £EF &)t x0.75
2. RHETWHAER 4<=t<=HpF

(fexg &)= (%8 % ¥4 £)tx0.975
3. WHSHEER {=6pF

(A5 &)t=(rH¥ Y E®E £)tx0.99
4., WH S EER t>=T @

(125 &)t = (%5 § G F % &)t

t:REgEER

1. RESEER t =1

(25 &)t=(rH i B8y £)tx0.91
2. RHEHEWHER t =2

(25 &)t=(rH i B8y £)tx0.92
3. FHEWHER t =3

(25 &)t=(rH [ £)tx0.94
4, FHEEER t=4pF

(25 &)t =(rH B EfEE £)tx0.94
5 EH V@-ﬁifi t =5 pF

(A &)t=(xH4 e B3 £)tx0.9852
6. H V@-ﬁifi t =6 pF

(25 &)t =(rH #EfEE £)tx0.99
7. RHES®EAER t=7pF

(25 &)t =(rH 1% BE&EE £)x0.9970
8. WH SiFER (>=8pF

(fRa&)=(F2E i} BEag 2)t

t P RHE SRR
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=

FHSEER t<=lpF

(29 &)t=(FE§ £EE £)tx0.75
wHmipE R I<t<=3pF

(R &n=(F5 % EEH% £)tx08
FHGEER 3<t<=4pF

Ay g)t=(%E % E®H £)tx0.85
FH G E R 4<t<=5pF

(724 &)t= (%8 § £ & &)t x 0.95
wH cEE R B<t<=6pF

Ay &at=(FE Y E®F £)tx0.97
wHCBER 6<t<=7 P

(2 &)= (%5 E8F £)tx0.997
" giEE R 7<t<=10 pF

(f29 £)t= (5 § @& £)t x 0.999
¥ e R 10<t pF

(B &)t =(in5 % @ 8% &)t

t D RHE SEER

wH CHEER I<=t<=5

(2 &)t=(FEH E%HF £)tx0.75
¥ ciEE R b<t<=6pF
(fFx&)t=(FE Y 5% £)tx0.984
wHSiEER 6<t<=7PpF

(2 &)t =(F5 1§ e85 £)tx0.997
FHSEER ST

(ERE NS W W Y

t D RHESEER

BHF Ed=4pm
FHGiEER <=3
(f29 &)t =(FE§ LEH £)tx0.75
wHCHEER 3<t<=4pF
(f29 &)t=(%H % £#% £)tx0.8
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wH B ER 4<t<=bpF

(f2% &)t=(x4d I% By £)tx0.85

wH SipE B b<t<=6pF

(f2% &)t=(x4d I% By £)tx0.984

BHGiEER 6<t<=T P

(129 &)t= (WH & E & £)tx0.993

FHSEER LT

(fAo&nt=(FEHEEg &)t t @ FELEHEER
2. % sy EH=6pF

wHGEER t<=5pF

(29 &)t=(FEH 5Eg £)tx0.75

WH SEE R 5<t<=6pF

(2 &)t= (5 § @2 % £)tx 0.976

wH SRR 6<t<=7PF

(125 &)= (5 % @8 % £)tx0.988

wECWEER ST

(fFrg&)t=(FE B EFg &)t t @ FEGEER

1. FHEEEER t=1pF

(A5 &)=(r¥ u%‘ & H £)Xx0.75
2. REGHEER t=2pF

(25 &£)t= (%5 @84 £)tx0.90
3. RHSHAER 3<=t<=HpF

(fexg &)= (%58 % ¥4 £)tx0.985
4, RHciHER t=6pF

(A5 &)=(r¥ u%‘ E&H £)Xx0.99
5. RHSHEER t>=7pF

(fFx gt=(FE Y E®E &)t

t P RHESEER
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1.

wHSEER 1<=t<=5p

(f2% &)t=(x4d b EEH £)x0.75
wHSiEER t=6pF

(249 &)t = (% § @ &)t x0.994
FHgEER t>=T P

(fR &)t =(FE H E®5F £)t

t o RE SiEER

wHSHEER t=1pF

(¥ &)t=(%E % &%y £)x0.90
wHSHEER t=2pF

(24 &)t= (%8 § ©£# & &)t x 0.90
FHGHEER =3P
(fFxant=(FE % Efu £)tx0.94
FHGHEER t=4pF
(fFxant=(FE % efy £)x0.94
wHGEER t=5pr

(725 &)= (¥ & B & &)t x0.977
H SR ER Ot =6 pF

(2 &)= (5§ E8F £)tx0.982
wHGHER =7 pF

(2% &)t= (%8 § ©¥ & &)t x 0.998
FHGHEER >=8pF

(B &)t =(in5 % B 8% &)t

t D RHE SEER

wHESBER t=1pF
(29 &)t=(FE§ EEF £)tx0.75
H g E R =2

(fag &)=(%5 % &EE% £)tx0.90
wHEER t=3pF

(29 &)t = (%5 % ©#FF &)t x 0.946
wHGEER =4

(f2% &)t= (5 % £ § £)t x 0.958
wHGEER =5

(f2% &)t= (%5 % £ § £)t x 0.968
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6. RHSBEER t=6F

(2 &)t=(FE iy Ee®F £)tx0.98
7. BHEEER t>=7pF

(fex gt=(rE§ el &)t

t P REGEER

1. RHEgiFER I<=t<=b5pF

(139 &)t =(RE § E8% £)x0.75
2. RHYEER t=6p

(2 é&)=(FEH e®F £)tx0.99
3. WHECHER t>=TPF

(g &)t=(wEp ey s

t P RHESEER

1. ®HEGHER I<=t<=5pF

(fFxant=(FE Wy E®y £)tx0.75
2. RHEHEWHER t =6

(25 &)t=(%E % &% i £)tx0.987
3. WH AR t>T7pF

(2 &)t=(FE§ EEF &)

t - RECEER

1. %H x®E R 1<=t <min(n,15)p*
(29 &)t=(FEH EEF £)x0.75
2. &H giEE R t>=min(n,15)pF
(fFr &)t=(FrE§ 8§ &)t
t CRHESEER on &Y

1. wHCiEER t<=2p
(faxy &)t=(5 H @® 4 £)tx0.90
2. wHEEER 2<t <=3 pF



BiZz A&

Cathay Life Insurance

ﬁ];} BFFGERFFUAPFTRIREP 2 i

(2 &)=(FEH e®F £)tx0.93
3. WHKEER 3<t<=4p

(fFx&nt=(FE % e®y £)tx0.95
4, RHSHER 4<t<=5pF

(fFyat=(FE ¥ e®iF £)tx0.97
5. RHEKEER 5<t{<=6p

(fFx&t=(FE % e®y £)tx0.99
6. RHKEER 6<t<=7p

(fa9 &)= (5§ EE 4% £)t x0.997
7. RHEEHEER T<t<=10p*

(29 &)t =(%% % @84 £)tx0.999
8. mHEN®EER t>10pF

(A9 &= (FE i} @g &)t

t CRHCEER

1. RECHEER I<st<=2

(fFxan=(FE Wy e®y £)tx0.75
2. RHENEER t=8pF

(fFxant=(FE % E®y £)x0.85
3. RECTHER t=4pF

(2 &)t=(FE 1§ E%H £)tx0.95
4. wH £ R 5<=t<=6pF

(72 £)t= (% ¥ § % &)t x 0.9895
5. %HCEER t>=7pF

(B &)t =(in5 % B 8% &)t

t @ RHSEER

1. wHEEEER t<=6pF

(f2% &)t=(x4d B EfEE £)tx0.75
2. BHEEER 6<t<=7pF

(¥ &)t=(FE % E®g £)tx0.982
3. RHEWER T<t<=10p*

(2 &)t=(FE % E®g £)tx0.992
4., wH i+ R 10<tpF

(725 &)t = (%5 i £ 4 &)t

t D RHE SRR
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1. RHESFEER 1<st<=2 p&F

(f2% &)t=(x4d b EEE £)tx0.90
2. RHESBER t=8pF

(g &)t=(FEH E%4 £)tx0.94
3. REECEER t=4p

(a9 &)t=(F5 % EE % £)tx0.945
4, wRHSHEER t=5pP

(f2% &)t=(x4 Y E®E £)tx0.98
5. REciHER t=6pF

(25 &£)t= (%5 E¥ & £)tx0.985
6. H SCEER t=7pF

(j25 &£)t= (%5 i B4 £)tx0.998
7. wHEEER t>=8pF

(74 &)= (%8 § £ &)t

t :RHSEER

1. RHESHEER t=1pF

(125 &)= ("5 § 8% £)x0.75
2. mETiEER t=2p

(B &)=(F¥ % 8% £)tx09
3. REGCHEER t=3pF

(125 &)= ("5 % @8 % £)tx0.95
4, RHGEER t=4pF

(125 &)t= (5 % @8 % £)tx0.977
5. RHEsHEER t=5Hp

(125 &)t= (5 % @8 % £)tx0.982
6. RHEHEER t=6P

(125 &)t= (5 % @8 % £)tx0.986
7. RHEGEER t>=TPF

(f29 &)t =(FHE§ EEHF &)t

t o RE SEER
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=

wHcBER 1<=t<=19 &
(f#9 &)= (%8 % @& % £)tx(0.75 + 0.25 x t/n)
2. WH G eER t=20pF
(25 &)t=(%E % E%u £)x0.99
3. RHEGHEER 1>20p%
(e &)t=(E e i &)t
t CRHEGHEER o EY

1. RESEER t<=6pF
(g an=(rEpEafEg 2)txA-K) Kt: $tixEERfEHF* 5
K1=5% > K2=4% > K3=3% > K4=2% > K5=1.4% > K6=1.1%

2. RESEER t>60F
(f2xy &)t= (8§ EF & £)t

1. ®HES®EER 1<=t<=10

(125 &)= ("5 § 8% £)tx0.75
2. BHGEER 1l<=t<=20 pF

(B &)t =(iR5 % @8 % £)tx (0.9 +0.01 x(t - 11))
3. REEWHER t>20pF

(2 &)=(FEH efg )t

t o RHSEER

1. RECHEER I<=t<=H &

(B &)t = (¥ § LK £)tx0.75
2. WHSEER {>=6pF

(72 &)t= (WH § B2 & &)t

t o RHSEER
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1. wHE# R/ 54 e &R 1<=t <=6 p*F
(25 &)t=(%E % E%u £)x0.99
2. RHER/S ARG ER t>=7T
(o gnt=(FrE§ %% &)t
t I REER/SRGER

1. wECHER l<=t<=4pF

(34 &)t= (W8 § £F& £)tx0.75
2. RHESHAER b<=t<=6pF

(72 &)t= (%5 § @& £)t x 0.99
3. WESBEER t>=7pF

(R &) =(FrE§ E8F &)t

t D FHE SRR

1. RHEHEER I<=t<=3pF

(35 &)= (8§ £ i £)tx0.75
2. RESEER t=4pF

(25 &)t = (% ¥ § &% &)t x 0.955
3. FHEWHER t =5

(2 &)t=(%E % E®i £)tx0.989
4, RHE TiHER t=6pF

(fFx&)t=(%E % E®y £)x0.99
5, RESHER t>=T P

(735 &£)t= (5 % @8 % &)t

t P RHECEER

1. By HEp

(24 &)t= (%8 § £# & £)tx (0.75 + 0.25 x t/n)
2. My HH

(e &t=(FEf el &)t

t CRHESEER n &Y
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1. FEZHEFER t<=6p

(12 &)t = (W3 § &8 % &)t x (1KY

Kt: 5 tiFREERf2H7 * ¥

K1=5% > K2=4% > K3=2% > K4=1.5% > K5=1% - K6=1%
2. RHTWHER t>6pF

(29 £)t= (%8 § £ EF &)t

1. #5 ¥R p
(1) $4f 28 (n)<5p
(B &)t = (%% EEK £)tx0.75
(2) 838 (n) =55
(25 &)t = (%% § E2 & £)tx (1-0.01 (10 - 1))
t P RHECWER o n - &Y

4

4

1. FHSEER I<=t<=2pF

Ry ant=(FE R E®y £)tx0.75
2. %H wiEER t=3pF

(Y an=(FE Y afiE £)tx0.94
. RHETHEER t=4PF

(1249 &)t= (%5 § @& &)t x 0.984
4. %H 5iEE R 5<=t <=6 pF

(724 &)= (%5 % E%% &)t x0.99
5. %8 giEER t>=T7p
HE€W=(RE B EEE 4
t @ RHSEER

™

Fy

™

~
=y
-ws

1. %8 5FE R I<=t<=4 pF

(2o &=(FrE§ e®F £)tx0.75
2. RHCiEER t=5pF

(2o &)=(FrE§ E® % £)tx0.96
.RESHEER t=6P
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(f2x &)t=(%E % E%u £)x0.99
4, RH SBER t>=T P

(e &)t=(E e i &)t

t P RHESEER

1 4 5% £=6p
wH CEER 1<=t<=5 pF
(20 &)t =(F5 % E8H £)t x 0.75
FHSHEER 126
(725 &)t= (%5 % @28 % £)t x 0.99
wHCEER t>=7 B
(29 &)t=(FE§ E8F &)t
2. My EH=10 pF
HyHEP
(f2&)t=(FE§ EEH £)t x (0.75 + 0.25 x t/10)
EE R
(9 &)t=(FE G E8F &)
3. My EP=20p
¥ t<15- (R 4)t=(FHE % EE % £)t x (0.75 + 0.25 x /15)
% 1>=150 (R e)t=(FE § @ F & £)t
t P RHGEER

LipdgEER 1<=t<15 p&

(7% &)t= (¥ % @ % &)t x (0.75 + 0.25 x t/15)
2.WE5iEER t>= 15 pF

(9 &)t =(FE G E8F &)

t P RESEER

1. 4 % & =6p
WH S E R 1<=t<=5 pr
(59 &)t =(%2 § aFi £)t x 0.75
wHSEER =6 pF
(135 &)= ("5 % 8% £)t x 0.987
EHSEER t>=7 B
(fex) &)t=(FE § EF % £)t

2. F By EH=20pF
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BHciEE R 1<=t<=20 p&
(A an=(FE Y 5fg &)t
wHCEER 1>20 pF

(A at=(FE ¥ 5fF &)t
t cRESBEER o - A

1. 4 5% & =6 pF

FHSEER 1<=t<=b @&
(fexy&)t=(FE § EF & £)t
wHSEER (=6 pF
(fexy&)t=(E § EF & £)t
FHSEER t>=7 B
(fexy &)t=(E f EF & £)t

2. % Wy EH=20pF

By HEp
(o ent=(rE§ %4 &)t
By Hsts
(o ent=(rE§ EF 5 &)t
t I RHECHBER n o EY

1. % 8.7 & H=6pF

WHGiEE R 1<=t <=5 pF
(R &)t =(FE G EEF &)
wHSEER =6 pF

(29 &)t=(FHE G EEF &)
FHSEER (>=7
(29 &)t=(FE G EEF &)

2. y87 EH=10pF

WHCEER 1<=t<=5p
(o ent=(rE§ EF 5 &)t
wHSHEER {=6pF

(o ent=(rE§ EF 5 &)t
RHCHEER t=7pP

(o ent=(rE§ EF & &)t
WHSEER t=8pF

(o ent=(rE § EF & &)t

N
=

T\

x (0.75 + 0.25 x t/n)

x 0.75

x 0.99

x (0.75 + 0.25 x t/n)

x 0.75

x 0.99

x 0.75

x 0.9

x 0.925

x 0.935
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wHgiEERE t=9pF

(359 &)t=("E % &8 % &)t x 0.975
wH gEE R t=10pF

(135 &)t =5 % 28 % &)t x 0.99
WH gEE R t>=11pF
(fFxg)=(rE a8 F &)t

t

DR E SEE R

1. %HE G E R I<=t <=2 pF

2. %4

3. %H

4, %8

5. %4

t

1. % ¥
(5%
2. ¥
(5%
3. ¥
(7%
4. 5 H
(7%
5. %4
(7%
6. %4
(7%
7. % H
(7%
8. m¥
(f

3

(29 &)t=(FEH LEF £)tx0.75
EEER t=3pF

(129 &)t= (¥ § @£ % £)tx 0.975
EEER t=4pF

(f29 &)t= (8 % @& £)tx0.984
SUFE R B<=1t <=6

(29 &£)t=(FE§ £FF £)tx099
EEER t>=7pF

(o ent=(rE§ EF 5 &)t

DRE s E R

EEER 1I<=t<=2pF

&= (FE ¥ ERE £)tx0.90
EEER t=3p

&€= (FE ¥ ERE £)tx0.93
KiEER t=4p

HEN=(FE Y EEF £)tx0.95
EEER t=bpF

HEN=(FE Y EEF &)t x0.97
SEER t=6pF

HEN=(E B EEF £)t x 099
EEER =T PF

&)= (FE B EEF &) x 0.997
L& R 8<=t<=10 &

QA= (FE EEF £)t x 0.999
FEER t>=11pF

HEN=(FRE ARG A

>
=

!



BiZz A&

Cathay Life Insurance

F3 A FFERGF AP FTRIPEP 2 ¢

t o RHCHEER

1. BHSHEER I<=t<=2

(&)t =(R8 % B8 % £)tx0.75
2. BH CiEER 3<=t<=6pF

(29 &n=(FE 7§ e84 £)tx0.99
3. WELWHER t>=7pF

(JBx &)= (mE 8% &)

t R SEER

1. FHGHEER I<=t <=5 pF

(e &)=(w5EHE®H £)tx0.75
2. WHNEER t=6pF

(f2H&n=(rEH &4 £)tx0.95
3. RECHER t=7 P

(f29 £)t=(%5 % @85 £)tx0.99
4, wESHEER t>=8pF

(25 £)t=(%5 § EF & &)t

t P RESEER

1. % 5p 2dh=7pF
wHgEER 1<=t <=5 pF
(135 &)= (w5 % @8 % &)t x 0.75
wHEiEER t=6 PF
(25 &n=(%H i E&H £) x 0.95
FHSEER (>=7
(29 &)t=(FE G EEF &)
2. F By EH=20pF
wHmEER 1<=t<=10 B
(fFxaen=(rE e F £)t x (075 + 0.005 x t)
wHgiEE R 11<=t <20 pF
(a9 &)n=(%5 % EEH% £)t x (0.80 + 0.02 x (t-10))
wH e R t>=20 pF
(o ent=(rE § % & &)t
t P FRHSEER N EY
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1. FHESHEER t=1pF

(29 &n=(FE 1§ e84 £)tx0.75
2. RHEGEER t=2pF

(29 &n=(FREH %% £)tx0.985
3. WH TiEER 3<=t<=6 P&

(29 &n=(FE 3§ e84 £)tx0.99
4, BHTHEER t>=T P

(fF9 &)t =(FE§ E8F &)

t o RECiEE R

1. % 8F 2 H=7p+
wH o ER 1<=t<=5 pF
(f2a &)t =(F5 % E8H £)t x 0.75
HgEER t=6 fF
(f20 £)t=(%% % @8H &)t x 0.95
wHGEER (>=7 B
(9 &)t=(FE G E8F &)

2. % By #P=10pF
wH o ER 1<=t<=5pF
(fa9 &n=(%% % EEH% £)t x 0.75
wHSEER t=6pF
(9 &)t=(FE§ e8% £)t x 0.9
EHCEER =7
(29 £)t=(%% % @85 &)t x 0.925
wHSEER t=8pF
(fa9 &)=(%5 % EEH% £)t x 0.935
wHSEER t=9p
(fa9 &)=(%5 % EEH% £)t x 0.975
wH &R t=10pF
(B &) =(m5 % E¥ % £)t x 0.99
wHgiEE R t>=11 @
(fR9 &)t=(FE G EEF &)
t P RESEER

1. § 8% #9=6 p*
mHSEER 1<=t<=5 pF
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(fFH g)t=(FE Y E&F £)tx0.75
wHSEER t=6 PF
(25 &)t=(%E % E®u £)x0.99
HSEER t>=7 B
(e &)t=(E 2 i &)t
t P RHESEER

2. F P EP=10 & 20 p&
wH wipE R I<=t<=5 pF
(Y at=(FE Y 5E#F £)tx0.75
BHgiEER 6<=t<=n-1 P&
(f2x &)t=(FE Y &% £)tx(0.75+0.25 x min(t ,n) / n)
FHGEER t=n PpPF
(2 &)t=(%E % E®u £)tx0.99
wHTEER t>=n+l pF
(e &)t=(E f afFa &)t
t P RESEER N £

1.%H 5iEE R 1<st<=2 pF

Ay ant=(FE % &y £)tx0.75
2.8 Sip# R =3 pF

(¥ &)t=(%E % 5®i £)tx0.975
3.%H Vﬁ-&)ﬁ t=4 p

Ay ant=(%E % 5%y £)x0.98
4% 5 5iEE R =5 pF

(¥ &)t=(%E % 5% i £)tx0.985
54 ﬁ‘sﬁ-&ﬁi t=6 B

Ay &a)t=(%E% 5%y £)tx0.99
6.8 SifE R >=7 pF

(735 &)= (5 % EHF &)
t RHCEER

158 i & B 1<=t<=5 p&
(fFxant=(FE % efyg £)tx0.75
2.%H TiEE R =6 PF
(fFx&ant=(FE % 5%y £)tx0.96
.RH TR =7 FF
(A &=(rH4 i3 BE&E £)x0.98
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ARERPF AT TR

A% ¥ = FER (=8 pF
(725 &)t= (%5 @ ©E# &)t x0.99

—+

—+

t

R i E R =9 P

(135 &)t =(mE § @85 &)t
A @‘&fi

H GiEE R 1<st<=3 pF
(o gnt=(FrE§ EF % &)t
wH S E R (=4 pF
(fRo&t=(FE K Efu 2)t
wH T E B B<=t<=6 PF
(ERE N W W Y
HCEER D=7 B

(2 &)t=(RE§ EEF &)
D iRHE AR

wHSEE R 1<st<=4 pF
(fax &)t= (%4 [ £t
wHCEER t=5pF

(fax &)t= (%4 [ £t
H S ER (=6 pF

(fax &)t= (%4 [ £t
wHEEER =7

(25 £)t= (%5 § £F & )t
DR SRR R

RH i E R I<=t<shpF

(ﬁ* 9 4?)1::(13—,%'5 l% BEREE &N

JRH ﬁ‘sﬁ-&ﬁ; t =6 pF

(ﬁ* 9 4?)1:—(13—,%'5 l% BEREE &N

RH SiEER Ot=T P

(Ao &)t =(F5 % @E8H &)t

R H AR t>=8 P

(f25 &)t = (%5 % £EF &)t
DiRH ?‘3@_& )i

0.75

0.98

0.99

0.75

0.90

0.99

0.75

0.96

0.98



At

BiZz A&

Cathay Life Insurance

& FEORD \" LA A \?’:ﬁt’%%

1. 4 5% & H=6 pr

nH wipE R 1<=t<=5 pF
(f2x &)t= (w8 % EF & £)t
RHSHEER {=6 pF

(f2x &)t= (w8 % EF & £)t
FHSEER >=7 BF
(f2x &)t= (8§ EF & £)t

2. § My £P=8 p

t

wH o E R 1<=t <=5 pF
(9 &)t=(FE§ LEF &)
RHSCHEER {=6 pF

(9 &)t=(FE§ LEF &)
RHSHEER =7 pF

(g &)t=(FE§ LEF &)
wHcEER t=8 pF

(A5 &)= (%5 § BEH &)
FHGEER >=9 pF
(25 &)= (%8 § £FF &)t
t - RECEER

1.8 ciFe R 1<=t<=2 B

(fe g)t=(FE§ 8w &)t x 0.75

2. FH TiFER t=3pF

(A &)t=(xH¥ l% BE®E &) x 0.98

3 FRHEECHEER (=4 PF

0.75

0.95

0.75

0.96

0.98

0.99

(725 £)t= (%8 § ©E% &)t x 0.985

4% ©iF £ B 5<=t<=6 pF

(f%2.9 E)lt=(%H l% BE&EE &) x 0.99

54 rsﬁ-&]i t>=7 p*

(e &)t=(E & E®5F £)t
PRHE SRR

1.8 &R 1<=t<=5pF

(Y at=(FE ¥ 5fiF £)t x 0.75

2.FH B ER t=6p
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(g a)t=(w¥ % EFn £)t x 095
3 EHCHER t>=TH

(A5 &)= (FE § BEH &)t
t o RHSEER

1. §8% #4=8 pF
wHGiEE R 1<=t<=b pF
(2 &)=(FrEH E®s £)t x 0.75
wH TiEER t=6 PF
(fFyat=(FE Y 5fiF £)t x 0.96
wHGEER t=7 pF
(o &)=(FrdEH E%4 £)t x 0.98
wH giEER t>=8 P
(2% &)t = (W5 & G2 % &)t

2. 87 EPH=10 pr
wHSEER 1<=t<=5 pF
(A9 &)t=(xH¥ i3 E®H £) x 0.75
FHGWHEER t=6 PF
(2 &)=(rdE§ E%4 £)t x 0.96
H T ER =7 223
(2 &)t =(5 % @% 4% £)t x 0.98
wH SiEER 8<=t<=9 B
(2 &)t =(%5 % @% 4% £)t x 0.99
wHSEER t>=10 pF
(R &)t=(FEH E®HF £)t
t @ RHSEER

1. § 8y &8=2 pF
wHSEER 1<=t<=4pF
(29 &)t=(%E % £FF &)t x 0.75
a4 V@-ﬁifi t=5pF
(29 &)t=(FE % LEF &)t x 0.96
LAy V@-ﬁifi t =6
(29 &)t=(FE§ £FF &)t x 0.99
wHGEER t>T P
(ﬁ’%"ffﬂ?)t:(fﬂ-ﬁi BEEE )

2. § 8% 2P=6 p
wHGEER 1<=t<=b pF
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P
(20 &)t=(FE § EFF £)t x
wH SiEER t=6 PF
(e &)t=(E i 2 8a &)t
FHSEER t>=7 B
(e &)t=(E i B 8a& &)t
8y E9=8 pF
mH S ER 1<=t<=b P
(e &)t=(m8 i B8a& &)t
FHGHEER t=6 PF
(f2x &)t= (8§ EF & £)t
FHGEER =7 PF
(f2x &)t= (8§ EF & £)t
FHGEER t=8 pF
(f2x &)t= (8§ EF & £)t
EHSEER t>=9pF
(29 &)t=(FEH LEF &)

PRH EEER

¥ AT EPH=6 pF
H S ER 1<=t<=b pF
(2o &)t=(F5 § EFag £)t
FHGWHEER t=6 PF

(2o &)t=(F5 § EFag £)t
HSEER t>=7 PF
(2o &)t=(F5 § EFag £)t
LAy =g p
HSiEER I<=t<=b P&
(fRa&)t=(F5 % BEF & £)t
wHSiEER t=6 PF
(fRa&)t=(FE % BEF & £)t
a4 V@-ﬁtf{ t =7 p&F
(fRa&)t=(F5 % BEF & £)t
wH SiEE R t>=8pF

(2 &=(FEH EBEF &)t

A 5‘3@-& B

0.75

0.96
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0.99

0.75

0.99

0.75

0.96
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L

N o
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